

# Bid 85-2022 S.I. INC Supplier Response

### **Event Information**

Number: Bid 85-2022

Title: Campbell Lane and Bob O Link Drive Stormwater Improvements

Type: Competitive Bid

Issue Date: 7/29/2022

Deadline: 8/19/2022 02:00 PM (ET)

### **Contact Information**

Contact: Brian Marcum

Address: Central Purchasing

**Government Center Building** 

Room 338

200 East Main Street Lexington, KY 40507

Phone: (859) 2583320 Fax: (859) 2583322

Email: brianm@lexingtonky.gov

Page 1 of 5 pages Vendor: S.I. INC Bid 85-2022

## S.I. INC Information

Contact: SARAH IQBAL

Address: 320 UNITED COURT STE 7

LEXINGTON, KY 40509

Phone: (859) 361-0645

Email: SARAH@SIGENERALCONTRACTOR.COM

ONLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

SARAH IQBAL	SARAH@SIGENERALCONTRACTOR.COM				
Signature	Email				

Submitted at 8/19/2022 12:38:23 PM (ET)

## **Response Attachments**

## Invitation to Bid No 85-2022 Campbell Lane BOL Dr Stormwater Improvements.pdf

Invitation to Bid No 85-2022 Campbell Lane BOL Dr Stormwater Improvements

#### **Bid Lines**

1	Mobilization (max. 2% of Bid)				
	Quantity: 1 UOM: LS	Price:	\$3,000.00	Total:	\$3,000.00
2	Demobilization (min. 1% of Bid)				
	Quantity: 1 UOM: LS	Price:	\$1,500.00	Total:	\$1,500.00
3	Traffic Control				
	Quantity: 1 UOM: LS	Price:	\$9,000.00	Total:	\$9,000.00
4	Construction Staking				
	Quantity: 1 UOM: LS	Price:	\$5,000.00	Total:	\$5,000.00
5	Project Sign (one sign for entire project at Cam	pbell Ln.)			
	Quantity: 1 UOM: EA	Unit Price:	\$700.00	Total:	\$700.00
6	Erosion Control (Silt Fence, Inlet Protection)				
	Quantity: 1 UOM: LS	Price:	\$5,000.00	Total:	\$5,000.00
7	Remove Privacy Fence				
	Quantity: 20 UOM: LF	Price:	\$60.00	Total:	\$1,200.00
8	Remove Tree (5" Dia. to 12" Dia.)				
	Quantity: 7 UOM: EA	Unit Price:	\$430.00	Total:	\$3,010.00

Page 2 of 5 pages Vendor: S.I. INC Bid 85-2022

9	Privacy Fence (Installation)				
	Quantity: 10 UOM: LF	Price:	\$250.00	Total:	\$2,500.00
1	LFUCG Storm Manhole, Type A - 4' Dia.				
0	Quantity: 2 UOM: EA	Unit Price:	\$7,000.00	Total:	\$14,000.00
1	LFUCG Surface Inlet, Type B			_	
•	Quantity: 1 UOM: EA	Unit Price:	\$8,000.00	Total:	\$8,000.00
1 2	Pipe Tie-in into Manhole			-	
	Quantity: 1 UOM: EA	Unit Price:	\$2,000.00	Total:	\$2,000.00
1	15" RCP Storm Sewer				
	Quantity: 300 UOM: LF	Price:	\$225.00	Total:	\$67,500.00
1 4	Bituminous Pavement Milling and Texturing			-	
•	Quantity: 20 UOM: TN	Price:	\$460.00	Total:	\$9,200.00
1 5	Dense Graded Aggregate Base (6-inch)			Г	
	Quantity: 12 UOM: TN	Price:	\$225.00	Total:	\$2,700.00
1	Bituminous Base (6-inch)	_		Г	
	Quantity: 15 UOM: TN	Price:	\$1,370.00	Total:	\$20,550.00
1 7	"Class I, Bituminous Surface PG 64-22 (2-inch)"			Г	
	Quantity: 25 UOM: TN	Price:	\$485.00	Total:	\$12,125.00
1 8	Furnish and Place Topsoil		*	Г	
	Quantity: 10 UOM: CY	Price:	\$200.00	Total: L	\$2,000.00
1 9	Tree Planting		****		<b>.</b>
	Quantity: 4 UOM: EA	Unit Price:	\$600.00	Total:	\$2,400.00
2	Seeding and Protection		<b>*</b>	「	<b>*</b>
	Quantity: 500 UOM: SY	Price:	\$8.00	Total:	\$4,000.00
2	Allowance - Certified Arborist On-Site	<u> </u>	<b>#</b> 40.000.00	<b>_</b> 「	<b>#</b> 40.000.00
	Quantity: 1 UOM: LS	Price:	\$10,000.00	Total:	\$10,000.00
2 2	Mobilization (max. 2% of Bid)	ъ. Г	<b>#</b> 4.000.00	<b>-</b> -/	¢4,000,00
	Quantity: 1 UOM: LS	Price:	\$4,000.00	Total:	\$4,000.00
3	Demobilization (min. 1% of Bid)	5.	<b>#0.000.00</b>	<sub>т. с</sub> . Г	фо 000 00
	Quantity: 1 UOM: LS	Price:	\$2,000.00	Total:	\$2,000.00
2 4	Traffic Control	ъ. Г	¢44.000.00	<b>-</b> -, . [	\$44,000,00
	Quantity: 1 UOM: LS	Price:	\$14,000.00	Total:	\$14,000.00

_					
<b>2</b> 5	Construction Staking			Г	
	Quantity: 1 UOM: LS	Price:	\$5,000.00	Total:	\$5,000.00
2	Erosion Control (Silt Fence, Fiber Logs)				
6	Quantity: 1 UOM: LS	Price:	\$3,000.00	Total:	\$3,000.00
2	Remove and Replace Split-Rail Fence				
<b>2 7</b>	Quantity: 15 UOM: LF	Price:	\$71.00	Total:	\$1,065.00
			,		+ , ,
<b>2</b> 8	Tree Pruning	5 ·	#0.000.00	<b>-</b> [	<b>#0.000.00</b>
	Quantity: 1 UOM: LS	Price:	\$2,000.00	Total:	\$2,000.00
2	Remove Curb and Gutter			-	
	Quantity: 100 UOM: LF	Price:	\$22.00	Total:	\$2,200.00
3	Remove Sidewalk, Entrance Pavement				
0	Quantity: 80 UOM: SY	Price:	\$50.00	Total:	\$4,000.00
3	Curb and Gutter, Type 4				
3	Quantity: 100 UOM: LF	Price:	\$107.00	Total:	\$10,700.00
		1 1100.	Ψ.σσσ	Total. [	<b>V.0,. 00.00</b>
3 2	"Concrete Sidewalk and Driveway (6-inch)"		<b>\$405.00</b>	[	<b></b>
	Quantity: 60 UOM: SY	Price:	\$195.00	Total:	\$11,700.00
3	Concrete Entrance Pavement (6-inch)			-	
	Quantity: 25 UOM: SY	Price:	\$300.00	Total:	\$7,500.00
3 4	Concrete Entrance Pavement (8-inch)				
4	Quantity: 10 UOM: SY	Price:	\$400.00	Total:	\$4,000.00
3	LFUCG Surface Inlet, Type B				
3 5	Quantity: 2 UOM: EA	Unit Price:	\$7,500.00	Total:	\$15,000.00
			ψ1,000.00	Total. [	<b>V.0,000.00</b>
3	24" Elliptical RCP Storm Sewer		<b>#</b>	「	<b>A50.000.5</b>
	Quantity: 100 UOM: LF	Price:	\$568.00	Total:	\$56,800.00
3	Cast-in-Place Headwall			-	
	Quantity: 1 UOM: LS	Price:	\$6,000.00	Total:	\$6,000.00
3	Full Depth Pavement Removal				
8	Quantity: 280 UOM: TN	Price:	\$122.00	Total:	\$34,160.00
3	Dense Graded Aggregate Base (6-inch)				
3		Price:	\$79.00	Total:	\$11,060.00
	Quantity: 140 UOM: TN	FIICE. [	ψ1 3.00	ı oldı.	ψ11,000.00
4	Bituminous Base (6-inch)			г	
	Quantity: 140 UOM: TN	Price:	\$259.00	Total:	\$36,260.00

4	Class I, Bituminous Surface PG 64-22 (2-inch)				
1	Quantity: 150 UOM: TN	Price:	\$300.00	Total:	\$45,000.00
4 2	Furnish and Place Topsoil				
	Quantity: 15 UOM: CY	Price:	\$300.00	Total:	\$4,500.00
4 3	Seeding and Protection				
	Quantity: 300 UOM: SY	Price:	\$8.00	Total:	\$2,400.00
4	Mobilization (max. 2% of Bid)				
4	Quantity: 1 UOM: LS	Price:	\$700.00	Total:	\$700.00
4 5	Demobilization (min. 1% of Bid)				
5	Quantity: 1 UOM: LS	Price:	\$300.00	Total:	\$300.00
4	Erosion Control (Silt Fence)				
6	Quantity: 1 UOM: LS	Price:	\$500.00	Total:	\$500.00
4 7	Remove and Replace Trash Rack				
•	Quantity: 1 UOM: LS	Price:	\$31,000.00	Total:	\$31,000.00
4 8	40-foot Double Arm Swing Gate				
0	Quantity: 1 UOM: EA	Unit Price:	\$11,000.00	Total:	\$11,000.00
4	Sodding				
9	Quantity: 150 UOM: SY	Price:	\$20.00	Total:	\$3,000.00
5 0	Tree Removal (> 12-inch DBH) NOT INCLUDED IN BID TOTAL (Line excluded from response total)				
	Quantity: 1 UOM: Each	Unit Price:	\$1,000.00	Total:	\$1,000.00
5	Utility Locate (pothole) (No Rock 0'-8') NOT INC	CLUDED IN BID TO	ΓAL		
	Quantity: 1 UOM: Each	Unit Price:	\$2,000.00	Total:	\$2,000.00

**Response Total:** \$514,230.00